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goboodbn4.88,4.890000

Ay (z) = Abo()). (4.90)

ggbobobubiboboooobooooboobon

A A

Ap(z) = A[Bo(x)] = BAd(x) = Blag(x)] = a[Bo(w)], (4.91)
Apd(z)] = b[Ad()] = bag(x). (4.92)

0oooooooo
Bo(z) = bp(x). (4.93)

D000D0D0000ADODOO ¢(z)00A,BOOOOOO0ONOOOOOOO BO

000000000

[000000000000000000]

godgbdodgbbogdgoobuogbouooooouboobouooobooon
guobogbooodbooobdbobougboobobo2b00boo0oooon
gbbgbtugooudooobodbuobououboobobobooobbogoboba
gbbobooobboooobbbbbuooobbobobbobbn

17



4.3 00000000 DOOOOODOO0O ~e

OO0000O0O0o0ooo0oooooooooboooobonoooonoooboooonogn
000000000000000000000000000 (self-adjoint operator) O O O
000oo0oooooooooors,e, 1]

lL.gbboodgooggoobboooobobouooobbboobbooobabbn
gobooboggobbooobouoboooooboooooooobbooobon
gogobobboobbboboboboabobbbbbbbobbbobboobod
gouogbbbogbobgougboooboobboooooouogbobooogo

2.000bobboobbuboobbuoooooooooobbbobbboboboo
gbodudbooooboooobbbuobogobuboa

. ubbodbuobobobbdooobbboooboboooobbooboooooo
gbobogoggobbbuoooooooo

4. 0000000000000 O000O00bO00bOb000bOo0oOooDbLbObOoOD
gobbboogbbbotooooboboobobbbooog

s.udbioboudbudooooboouoooboboobobbbbbobboon
gbooguooobooobbobobbboooooo

6. bbb uoodbooobbobuoooobbooobuooooobbbo
gboooogobbobbbuooboouobbooooobooboboboobboon
gogboboubbobbobobobbobooboouooooobobbbaboo
gobboggobobobobobobbuobboobbogbboboooobooooboobooboo
gboubbbdoouoboboobbbboobbobobuooboobooooobboan
googd

000000000000 0D00000000000000000000000000
O0D0D00D0D0D0D0DD domain of definition 000000 00000000O0D0O0D0DOO
00 A0DOD OO0 self-adjoint),A'= A0 000000000 0000O0O00D0O0000O
DA)0 DAHYO DD O0DO00000000000000000000000000

5 0U0400000000000000DO0O0O0O0O0O &

5.1 DOOOOoOOO

00000000 ADO0DOOO(A0DOODOODO AAODDOODOO

~ ~

AA=A—(A), (AA)T = AA. (5.1)

00 ¢(x) 0000000 A0O00O00 AAO standard deviation DD 00 DO 0000 O

~

(A —2() A+ (4)?)

—~
>
N

~—

[\
Il

—~

—~
>
Y

~—

V)
~
I

—~

—~
s

|

—~
Y

~

~—

[\

~
Il
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= /+<><> O (z) A% (z)da — </+oo w*(flf)z‘iw(ﬂf)dx)Q ' (5.2)

—00 —00

D0000000000000000000000000 A0DDOOOO ¢, 000000
00000000 ¢,(x), (n=1,2,--)0000000000000000O00O0O0OOO
gbooobdgobobobuoobbbboobbooobobbbuoooobboon

Aty () = anthy(x). (5.3)

000000 (eigenstate) 0000 ,00000000000000OO

~

(AA)?z = <A2>n - (<A>n)2 = a?z - (an)2 =0. (5.4)

gobdgougbboooboobbobobboodd

V(@) =3 eathn(z), O leal® =1). (5.5)
00000000000000
(AA)* =3 lenlan, — (3 lenl*an)® # 0. (5.6)

5.2 JUO0Ooonooooooon
guooooooon

1.200000 A, BOODOOOOOODOOO,
2.0000000000000000000

0000200000000000000
[A,B] #0=iC (5.7)
0000020000000000000000000000000000

(A, By
2

gboodggbobbouogbobbobooooobubbobboboboobooobobobbn
godbboobdgoooobbodod

(AA)(AB) > L[(C)] = (58)

gogn
gbbbouoobooogbuobogobboobboood

[AA,AB] = [A,B] =iC (5.9)
godooooboooooo aDDDDDDDDaAA—iAB)¢(x)DDDDDDDDDDD

nap;/mAA—¢ABm@m%xzo (5.10)
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ooooooooooooao
I(a) = /RQAA_¢AByM@rKaAA—¢ABw¢mwx
_ /w%@MAADiAEpAA—iAE¢@Mx
_ /ﬂﬁ@ﬂa%Aﬁﬁ-4aAAAB+4aABAA+«ABPMM@¢r

= [v@ietad +ac+<AB> b(a)da

_ 2 <A> poy  (0)?
_ «AA)>a+2« Ao | AR - s (5.11)
DDDDI(@)DDDDDD (:DDDDDDDDD)&DDD oy 0000
i = — () (5.12)
2((AA)?)
ooo
A2 (C)?
0% o) = (BBF) - 0
P2 502 (C)?
(AA((AB)") > 1 (5.13)
00000000000 o
AA-AB > ‘<[A’23]>’ (5.14)
gooooo
00000000000000 (46, =ik)000000
Ax - Ap, > %h (5.15)

0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
D00o0ooooooi()
D00O000000000000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000 000000000000000000000000000
0000000000000000000000000000000000000000
0000000000000000000000000000000000000000
00000000000000000000000000000000000000000
0D000000000000000000000000000000000000000
0000000000000000000000000000000000000
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6 0050000000 &

00 [1,40000

7T 0060000000 &

lL.gbubougbboogoooobbobbbobooogobboboobobooooon
gogbboooogubbboobbouoboodobbboobbbbooboggog
00000000000 [,400000000000000000O0OODOO00O0O0
godoboogobobbouooobboooobbob

2.00b00bgoubboogboobbbuoooobooobbbobbobobobog g
gboogbbobobbbdobbobbbuoouobobdoobobadbooobon
00000000000000D00000000 A000D000000000000
gogobboobbboboobiobooobbbouoobboboodobbooog
O0000000000000000 A(=h/2r)0000

.utggubuooobobboooobboooobboobbbboobbooog
godguogobboooboboobooobuoobbbooooobuogooban
goon

4. 00bbobogbobdoboboooob bbb ooboobuooooboa
00000000)0oo0o000o0ooO0oooO0oooUoooooOooDooOoooo
00000000000 ¥(s,t) = ¢(z)exp(—iwt) D0 0000000 E(ODO0DO
000 w)000 00000 stationary state00 00000000

s.ubidubuubbobuobooboooobboobuobbobbobbobuo
000000000000 w000000000000000 VY, (x,t)=sin(kr—wt)
00000000 ¥_(2,t) =sin(kr+wt) 00000 sinkzrcoswt0O0O0O00O00OO0
goudubugudgoboobobobuoobooobooaonbobuooooooao
gbodoobboobbbooooooobbobobbbooooooooon
0 |[4(2)|cos(wt) 0000000000000 D000000000000000000
guogooogd

8 U0O700DOODDOD &

gbobouoobbouabobbuoboboooooboboooboobbobboobbn
gobbuobbuogoogbbobobboooobooo2bogbogoobooboboobo
0000000000000 000000000000 0000000 (erbit)D 0000
gbogbubobbooooobobuobbooooooobbuobooobuoogoganon
gbbodoogbuooubobougobuooobbboobobbbooobobbo
gobouobobbbooobbbooboubbooooboooobobouoobooboo
gobogobboooobbbobuobbuooboobbououboouoooooobn
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gobbbobogbgbobdobuooooboogbobobobobobooobooboboa
gugobbubdobboooboooobbboboooboooboooobbbn
gogobobobuogobobobuobog
oobodbooboooboooboboooooborbOobO0DbODOODOODDOD
goguoddgbbogoobbbooodoboboboooobbbbuoogoooboa
oboboboboobooooobomoobobobooboobobobboonog
gogodgoboobgbobobbbob oo oooboobboboon
gubboobdgboooboobbooubooobooboobboooobooan
guoudbdgbdugoguguooboobuboubbobouguboobobobod
gobubbuaubobogobbbbboguboooboobbboobobobagg
goobdubbobobbgbbogooog bbb oooboobobbooboogon
gobubbogboobbuobboboobobbobobbbboobbooouobbobo
gbogbuogobogboooobbobbobooboboboobooboobobobo
gogoooooogobbobbobbboooboooorbboobooobooooobob o
gubbobgbotoDoboobbiooiouobobbobooboobbooog 20boogbon
gogubuobdbouobbobbboobbdobobobuoboboboobobbbooo
goddguougoougbbbodobooduggouoboooobbboooba
gogoobooooboooboobbboobob ooobobboooobooooooo
gbodbodooooobobobuobboooobobobooboboob @moogda
gobboddgbuoboodgggbogbdgbgobooboggobboboonbobbdgod

200000000000000000[19, 20]

9 J00000DOO0DODOD0000DD000 o

000000000000 00 U(x,y,2)000000000C00DO0OCOOOOOODODO
00000000 000000000000,, 16000000 U(x,y,2) 0000000
00000000000 ¢(Ft)000000000000 A(Ft) 00000000000
godbquuubbobbbubbb pbbbbobobbbogonobooon
D0 A0D00000D0O0D0OO0OO0O00000000000000000000000000
godggudgoguboobgo

~ 1 q
H = (p—=A?’+qp—p B
m C
h* 1q
= —— (V- —2A)? —u-B. 9.16
5 (V= At —p (9.16)

oodbcOODOOOODOODOOOODODOOO BOOOOODDOODOO AODOO
B=VxAOOOOOODO
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10 DO0000000O0O0DOO00DOD00o0ooo@Woooo
)

gbobdogobbooobbbuobououoobobbbooobbboobbon
0000000000001 000000000000ooooooooooog (o
0)00O000000000o0ooooooooooooog

gbobodbobbbouboggbbobbobboobuobboobbuooboooogon
00000000 (00)0000000000000000000000O0O0O0oOoOOO
00000000000 000000 MOo0ooooooooo(co)ooooooo
0000 ((@0O0)000000o000o0000ooo00oooooooooooooooon
gogbogbgbogaogd

000000000000 000(0D0)0000000000000O0o0oooooon
gbogdgooobbboooobuobouogbbbobobbbbooboobooboobod
gboobobbbodboooobooooobbbbooodbbbooobboboo
gogbogboobooggd

10,1 OObhbOooooobooboobbgbbbbooon
gbbogbbbooogobbobbblbudggooboogo

1.0000000 (0000000
0000000 ¢(x)000000000000000000000 (basis){¢;(x),i =
1,2,---,n}000000000000000000000000000000000
n0000000000

() = 3 (o). (10.1)

0Doo h
[:ﬁﬁ@@@mx:@mmmmmmy (10.2)
'i@@wﬁwzau—fummmmmmmmmm) (10.3)

0000000000 ¢(x)000000 (a,6,-++,¢,)!0 100000000
vy e | . (10.4)

D000000DDoooon
el =1 (10.5)



000000
00000000 (OOoo0o0)
0000000 ADDOOOD ¢(x)0000000000 ¢(z)000000

Ad(z) = p(z). (10.6)

MO0 ADD0D0O0O0O0O00O0O00O00O0O0000O0000000000 A0OO
(basis){¢;(z),i =1,2,---,n} 000000000

/¢j(x)121¢g(1’)d17 = A (10.7)
0000000000 ADOO {A;,i,j=1,2,---,n}0 100000000
Ay A o A
Ao | Mmoo A (10.8)
A Ag e A,
Oooodooooooooooooooooooooonooooon
00 A(=A;; , nxn)000000 (Hermite) 0000000000000
Ajj = A3, (complex conjuge, 0 O00) (10.9)
godooboooooooogaa
A=A" (t1dageer00 000 OODODN)) (10.10)

gooobboobboboodobbouodobobuoooooboboboon
goog

Al = U ¢;(I£)A¢¢(x)dxr: / ¢;(x)[A]*¢F (x)dx (10.11)
= /¢€@ﬂ4¢ﬂwﬁhf (10.12)
= A (10.13)

gooooobooobbooouooooan

Aauobobbooggoboo

00000000000 000O0O000O00000D (A;,=A,)000000000
gbddgggbobogobobodboogobobobuooououoobboobg
goggbbobboooobooobbuobbbbboooououoobobboobon
OO000o0oo0oboObO0obO0oboooOooooobboboobOoboobboDbOooo A
Oigdooboo aNODO0OD0D2,00000

S Ajpca=N-xy (4,5=0,1,2,---,n). (10.14)
k=1
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0 (10.14) 0000000 e 0boooouoooonog

Z T Ajk o Thi = N Z |33ji|2- (10.15)

jk=1 k=1

0 (10.15) 000000000000

Yo owg A ai =AY gl (10.16)
Jk=1 jk=1
0(1016)000 = Y 2 Ay -2l = 3. o Ay 2l
Ji.k=1 j.k=1
= Z 33;1 Ajk Thi
7,k=1
= X > |zl (10.17)
0 (10.16), (10.17) 0 O AL
X =AY |zl =0 (10.18)

J=1

D0000000000000000000000000000000000000
00000000y, |w:?#00000000

N=X (\:00)0 (0OoOo0o) (10.19)

s.0uudubooobobobobod
gbogobdoubooooboooooobogd

~

Ho(z) = Bb(z) (10.20)
DDDDDDDDD(lO.I)DDDDDD
méwmm:mgqmm. (10.21)
gpooooog (bf(x)DDDDDDDDD
ﬁéfﬂﬂgzzﬁk% i=1,2,---,n (10.22)
%

00000 (e,60,--7,6¢,)000000000000000000O0OODOOOOOO
gboggboogoooogd

Hy Hyy --- Hyy, C1 C1
. Hyy Hyy --- Hyy, c c
Ay@)=Ev@) e | 2 TN T =E| ] (10.23)
Hnl Hn2 e H’rm Cp Cp
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gddoodono 1gl1gddoudoooodooooooooooooog
Hz‘jE/Qbf(x)ﬁ%(x)dx (10.24)

000000000000 (1022)00000 (g =c=---=¢,=0000000
O0ooOoooooooo ( ?ZlHijcj—Eci:O)DDDDDDDDDDDDDDD
goooobon

|H,; — E;;| = 0, (10.25)
Hll_E H12 Hln
Hon Hy =B oo Hon =0. (10.26)
Hp Hpy oo Hy — E

0000000000000 (e1,60,-++,6,) 0 0000000000000 OC0OOO0O
000000000000 (lo5) 0000000000000 DO,0000D0ODOO
O0000000000000000000Rn) 0000000000000 {E;k =
,2,---,n}0 000000000 4000000 EOOODOOOOOOOODOOO
0

Hy Hyp --- Hy, C1k Cik

A Hy Hyy --- Hyy, Cok Cok

Hiy(x) = Epp(x) . . . . | =B |, (1027)
Hnl Hn2 e Hnn Cnk Cnk

0000 0o00ooodg (k=1,2,---,n)00000000000O0OOOOOOO0O
gboobogbobobooobboboboobogboobooboobobboobobda
gboogo

LOoogoobobogooboo

000000000000 00000000000000 {pk(x),k=1,2,---,n}0
gbooduooooubooooboboooobobuoooobaoon

(@) = 3 dygil(a) (10.28)
k=1

gobg0bbbooggbbbbobobbbbuobobbbooooobn
gbbbouodobouooobbbooobobbobobobbbboouoood:

oi(z) = ;UM on(@), (i=1,2,---,n), (10.29)

U = / ot (x) i () d. (10.30)
0(10.)D000o10.2800000000

Wﬂzé%é%%@) (10.31)

= (Y uedanla) (1032)

k=1 i=1

26



ooooooooooga
dy =Y Ukici (10.33)

i=1
googboooogobboooobobo

doldel> =1 (10.34)
k=1

00000000000000000000000 (e1,6,--+,¢0), (di, day -, dp)t O

000000000000000000 {Uyy,i,j=1,2,---,n}00000000000

Ut = vut=I0(:0000), (10.35)
Y UiUip = D UalUj =0y, (1,5 =1,2,---,n). (10.36)
k=1 k=1

gbuogoogobouooobouboobbobbobbboobobboboabbn
gogobobogobbbooboboboooooon

Ay = [l dpias (10.37)
> [ 6@ Ui () d = > Ui [ 1) Adu()dn)Ui; (10.39)
= 2 Undu U, (10.39)
- Z;TAU)”' (10.40)

10.2 0OOOOOOOOOO0O0O
10.2.1 OOOdOooodn

1.(000000000O000000000O0O00O0O0O0000DOO0O00OO0OOO
2000000000000 (—o<z<o0)
. 0tuuuoob20000boooobbbdz0d0doooobb:-0o0oagg

Yem (0, ¢)
T 27w
/0 /0 Y7 (6, 6) Yo (6, &) 51 0d0dd = 8716, (10.41)

4.0000000000 1< <1000 0O0ODOODODODODO

+1 2
[ Pia)Pol@)de = b o

(10.42)

11 000000000000 &

gogobgobooobbboooobboooobobouobbboboooobobaa
gbobboboobdgobooubobooouogbobbbooobbbbooooon
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11,1 O0ogboboobn

gbobbooobbbbouogbbuodgbbobbboubobbuougbobbooob
goubogooboogbbdgbobogbbboobboobbobbooboobbboouoa
gbobboobbodabuobobobooobbboooooobobobbodgbbob b
gboddoouooouoobouoobboouooobbooboooobooboob ™
guobbbboboboggooboboobbobbouoboobbodabobboobon
goouodaoogd

gogbbbooogoboboogd
gbbouggobouoooobuobodaoo

d{z)

ol dt/ (z,t)xV(z,t)d
[ OV () oo OV (z,t)
= /_OO o x\I!(:c,t)d:IJ+/_oo U*(z,t)x 5 dx
R et M C)) . 0%V (z,t)

ggbobbobogbbobbbouobbooobobbooobon

(000 10000) = /J:O%%x\ll(x,t)dx
_ [%xm,mtg -/ zo% : a%[x\lf(x,t)]dx
_ _[q;*(x,t)%i’ﬂ]ngr/::\D (=, t)aa—[xlll(x 1]dx
[ 9 "Wz t)
_ /_OO v (x,t)[?(ax)\ll(x,t)+x el (11.2)

Jdopooooooooooogooonoooggonoooo oo og oo go 11.14g
gdodpoogo
d,« (ps) ,. RO
dt<x>_ m ' (P = i@x)
Jdoodooodoooooooonooooonooooooog oo bobogonoooogno

(11.3)

gogboboooobobouoooon
gboduoogbbouoobbbbuoobooobon

dp,)  d ot hD
- E/_oo (o, )7 (o, )do

dt
oo QU (z, ) h 0¥ (x,1) . h 9 0V(x,i)
/_oo[ o i or TV @ga (g ld

too § o h? 0P h OV (z,t)

[ Gl + U 07 =0
i h? 0?

%[_%W_'—U] ($,t)}dl’

+U*(x,t)
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- /+OO\I/*(x,t)[—g—U]\I/(x,t)dx

—00 T
5 2
- B Ty = () (11.4)
0000000000000 (=0000000200000000000000
ooo0oooooooooooooooooOoboboooOobOboOoOoObOobOOooDOon
OooboooooooooooooooooooboboOoooboOonooooOoooon
0000000000000 Ehrenfest’s theorem) 00 00

11.2 0O0Ogoogd

goboogooboobbbbuoobbbbbobobooobooouobboo
gobbobogobobdgobogbogbuodgoobbouooboboboobooboo
gouoobobogbbobboodgouoboooubooooboobobobnboooog
gooduoboodgbbuoooooubbobouoobobbobbbbbbobood
gooobuogbgbbubbbboooobooobobboooooubbobobo
gbooubbboooobbbboobbbbobdubogn

0000000000000 0000000 wave packet) 0000000000 100
guobouobooobgouoobobobobibooooooooboon

Up(2,t) = c(k)eltke=t) (11.5)

0000000 ¢k) 000000000000 000000000O0O00DO0OD kKOO0
D0 wd0O hw="0r%*/2mO0m0000000000000ODODD AODO00O0O0DO0
OoOoobooooskbboObboO0nsgnobooon

U(z,t) = / c(k)eithe =) g, (11.6)

googgoobgoogo
O0000¢t=00000x=000000000000000000000 Rky = po
guodbooooobbooouoooooboo

2

U(z,0) = Aexp(—% + ikyx) (11.7)

000000000000 P=|¥(x,0)?’0000000 8,000000

2

2, (11.8)

a2

P = [¥(z,0)]* = |A]* exp(
Bk

m
000000000 |z|~e000000000000D00ODO REKKODODDODODOOOODOO
gooooodooilteoood

S. = |AP (11.9)

U(z,0) = /c(k)e“mdk; (11.10)
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gobdouoooggoboogo

1 : A o
C(k) _ E / \I/(x, O)eflkffdgj = E /eXp{—2—a2 + Z(ko — k)l'}dl'
aA

- Ner: exp{—%cﬂ(k} — ko)*} (11.11)

O00b0000000t=000000 Av=~a0000000O0DODODODOO KO
0000 k=k0000 Ak~1/c00000000000000DO0OOOOO11.1100
gob11iedbgdoog

aA [t 1 ht
o _ aa e T AR B AN (L
(x,t) o N exp{ 54 (k —ko)* + ikx 22mk +dk
- L e Oxfr;( w )ty (11.12)
1+ ()t 2a%(1 +i—"5t)
Al? (w — Mot)?
U(z,t))* = |— - 11.13
‘ (:Ua )| 1 + (7252)2 eXp{ CL2[1 + (7352)2]} ( )

000000¢+4£0000000000000000D0DOO0ODOO0OODOOOOOOOO0O
DD%Ot/mDDDDDDDDDDDvozhko/mDDDDD group velocity 0 O OO OO
00000000000 000000¢t=0000e0000¢t0000 a{l+(ht/ma?)?}1/?
OOo0ooooooooog
Oo00o0ooO0o0odbooboboooobobooobobbooooboooDbOoo
O000000000DO0ODOO00O0bOoOOoOooooooDon

1.00000000000000000m=0,9%10"%%g, a~107""m( 0000000
gogbooguboobbdgt=1s0odang

ht 1.05 x 10~**joule - s2
ma? 0.9 x 10=3%g x (10~15m)?2
~ 1074 (11.14)

ht ht
—)?2 = — )~ 10% .
ay/1+ (ma2) a(mcﬂ) 10*"m (11.15)

000000000 (0150000 =09 x10*m00000000000!'000 0
gbooboogobobobdilsguogbbbbobuoooboobobuoooonog
00 107%00000000000000

nt It
— 2 ~a(—=) ~ 10% .
a1+ (maQ) a(mcﬂ) 10%°m (11.16)

ggobdbbbboogobobbbboduoobbbouobobobooobDbo
2.0000000000000000000 M m =1.67x10"%kg, a~107PYmd 00
godobodooobouoooboobbot=1s0ugn

ht 1.05 x 10~3*%joule - 52

ma?  1.67 x 10~27kg x (10~0m)?
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~ 0.59 x 10", (11.17)

ht ht
—)2 = —) ~ 0. 3 :
a1+ (maQ) a(maQ) 0.59 x 10°m (11.18)

gbbogbdbodgeombodoubooouogobobobobooboban
0000000000000 000000000000000000000 O 1071%s0
gogobobooooobobobbbobbbobouodooobooobobooooo
0000000000000 0O0((Co0o0oo0ooO0Dooooooooooooooo
gggoubboodbobuoodobobobbobboooboboooboboon
EREREREE

3.00001000000000000000m =10"%kg, a~10mO0000000
gbobodt¢t=1s000n

ht  1.05 x 107*'joule - s
ma?2  10~3kg x (10~2m)?
~ 1077, (11.19)

l
S

/ ht
1 2
@t (maQ)

gbooblgboggboboboboooobbobugbliobooooouooobbon
gguoobobodgbogououbobobobbboooobobboobbobboo
0000000 me?0000000ARO0D0O0O0O0O0O0OOOODOOOOOOOODOO
godbbouobodaoon

(11.20)

11.3 ODO000O0bOboboobobbooobooobobooooor

gbobbodoobboboboboooobooouooooooooboboobobaa
ggobobobooboobooudgboooobboooboobuooobobbobobo
goddbobogobbddouuogboobobooboobbboobbbbooodgd
gbobboouooodgbbbouooobooubbbouooouobbobobooaon
gogbubgbbbodgbbbooobbboobbobbobbbooouooooog
guobbgougbboougouououooubbobobobuooobbboooobn
goddguoogobbuoobooboooboobouobboooooubogoooon
gobooboobogn
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